> &b
= T
] AL
o ® ¥
|
4. &
e
\@’
\/—/

Installation Instruction
(WS\WR101,102,103,105)




®

® 0

| (™)

T
L

v ©

B

. >
%§> OIS

A
-

1.Tools:1.Gradienter. 2.Screwdriver. 3.Silicone Gun. 4.Silicone.
5.Spanner. 6.Electric drill. 7.9 Aiguille . 8.Triangle rule. 9.Hammer




2.Adjust the shower tray:

Adjust the shower tray to make sure the upper surface of the track is vertical with the
wall. The upper side of the shower tray shall be level and all the legs shall reach the
floor.




/

':;;//‘A

v — ‘
ST4X50

flat tapping screw

ST4X30
flat tapping screw

/’\
9\’\0
ST4X12
Flat tapping screw

decorati

cover

3. Install the door frame
(D Get the door frame connected to the shower tray.

(2 Get the door frame aluminum profile connected to the upper track.




ST4X1S round head tapping
s
> |¢ = |
\"J: 1 /

_—

/

___ST35X20 round head tapping
screw

®

4.Install side back wall to the cabin
(@ Insert the glass wall into the door frame and get it fixed with tapping screws.
@ Fix the glass wall onto the shower tray.




®

© ST4X16 round head tappi
B\ A / scre PP
] O I

5. Install the technical panel

(DPut the technical panel on the shower tray and then fix it to
the side glass with screws according to the drawing;

@lInsert the steam engine waste water pipe into the drain
(3Connect the water pipe according to the numbers.




ST4X20 flat tapping screw

/
=
R}

®@ ©
@ ©

©]
)

6. Install fixed glass door
Get one side of the fixed door into door frame. Install the other side of the glass door onto the track with blocks
on both ends through tapping screws.




upper wheel tm

\\
\\
\\

/|
I
/} ® © o

W

7. Install the movable door
(1) Put the upper wheels of the sliding door into the upper track. Take off the cap of lower wheel and loose the screws.

(2) Push the lower wheel into the lower track and install the cap. Then tighten the screws.

(3) Adjust the upper wheel to make the door working well.




A

8. Install the door handles.




304-06 seal

Fixed glass

/é64—08 seal

magne£;2\sfigée for

movable door

9.Install the seals and magnetic stripe.




M5X25

M5*25 sckew

M5 black 0 washer

Right side—— ‘ ot
backbo;@d >M
/

M5 gasket

O M4 nut —[1T

-t M4 gasket — mctm

«ts M4 black O washer ___ &ty Left side
backboard
N ‘\j

a—

ok Copper washer &b
;%EJM*ZS screw 7E

. ©— decoration  ©
cover

NEEN N\

252’:@]
Sliding
bar—

Shampoo holder

10

10. Install sliding shower bar and shampoo holder.




- i ~
6
= | [0
© ©
® ©
® ©
— B
0 0

11

11. Put the shower grid into the cabin.




Installation for acrylic roof:

@

Front guide part:

E_ ST4X12

o

[OC]

@ e

tapping screw

S — M6 nut

i

@

Backboard part:

— M6 gasket
M6X20

Hexagonal ware

Installation for wooden roof:

@

ST4X25 flat tapping screw

g— ST4*16

E Front guide part:
./-
[
>
— '\
| g \
~g{ \IE~ N ~-j%>;.,
[ — E— I
" s T
I L T
® ©
é @ e
=
\/\=‘=’//
\—//

12

)

Backboard part:

Big tapping scre

12. Install the roof.




13

. 8.1 (Air-vant) Pipe for top shower
v 2 (Chromatherapy Ilght)}»

i ; 8.3 (Loudspeaker)
‘ =

© b

(@)

— T

¥

B

= | T
xgzzz:;;ig%%%%it:§§§§;>
S ——

13.Connect the pipe for top shower and the pipes according to the number.




14

¥
3
SR
= =
T
\//

14. Install the front decoration profile on both sides.




135

15. Push the cabin to the corner and adjust the profile as the drawing.




16

[ ]

— \\@Nyu
A0

> » JJN

7/
|

©
[©)

S

=N ;\T\K

@
@ o HUJ

]
W

M /
Y
N A
N

16. Install the front decoration profile on both sides.




j g
L — .‘?\
B Ol ©® 5 \
L1 e|||© ~J
L ¢

P o|l|le |
g 250 | R

=

17

17.Adjust the gap between the cabin and wall :
(1).Connect the pipe and wire( connect the earth wire to the ground). Push the cabin to the corner after connecting power supply.
(2).Use the screwdriver and hammer to insert the profile. Make it close to the wall.




	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)
	2019.07.29 WS101.102.103.105 installation Model (1)

